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Please check whether you have got the right question,DaF.gt.i,.
N.B: 1. Question.No.l is compulsory. ,r , .

2. Attempt any three questions from thsremaining'fivel
questions. .'' '.. ,-r'.'.-.' -::
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Q.1
a)

b)
c)
d)

Q.2 a)

b)

Q.3

Q.4

What is meant by frequency reuse? What is'its effect on,ihe co-
channel interference? . 
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:: "' 't,,.,. 'r '':) ,, .t' ,'- 't' '."
State the radio specificationg of CSM ,' ,"' ,. ..::.-'' ' , .

Compare GSM and CDMA:tedhojqgies, , , ' ;.' '.: ,

Explain the terms of soft, softer and soft pofret.fandoff$o , ,;

Draw a wel I lab elled ditg$at :#djdbiaiil m ae$iffi 'j.'.' '.ii' . r.
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10Explain GSM fi.arrre an&@stoe,gtprcrure,with the requireO
-.:

,,
Explain CDMA reverse channel processing
Discusp oUi.itlV resoir.rcemanaggment:in eOMa.

,, l

Explain 4G-LT,E architecture with a neat block diagram in
depl1rt,r1,:.,.:l 
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,,,,.,',,ffi e"rqdius ofeactrr .new mieiosellnis iiqlf that o f the ori ginal
;:l;- ; Cd,1lg$gry..that..' j.,,,.,,:--. .., , . li: ;'1, .'.

. , i) fraffie load incfeases four.times
.-, iD Transmit power must be ieduced by 12dB to maintain' 
' , the SA.I requirement with a path loss exponent of 4.
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;r-p)..i,,Deseribc",t&tT$ar.chit$ture with a neat diagram and

,,:1E1.,.-'roonipare;3G,ad4Giechnologies.

1fiw.r16bry,aote on mobile IP.

" Write r short,notes on:
a) "':wiMax

:"b)',' F.Rg" ;,'.'.:';'
' c) RFID
..,iil MANET-:
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